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Exercice 1 

 

Quelle main de Sud correspond à la séquence suivante ?  

 

Sud Ouest Nord Est 

1 – 1 – 

2 – 2 – 

3 

 

Main a 

 AR65 

 ARV85 

 – 

 R542 

Main b 

 A98 

 ARV54 

 2 

 RV98 

Main c 

 A76 

 ARDV5 

 2 

 AR92 

Main d 

 A43 

 AV765 

 D 

 R654 

 

 

Exercice 2 

 

Quelle main de Sud correspond à la séquence suivante ?  

 

Sud Ouest Nord Est 

   1 – 

1 – 2 – 

2 – 2 – 

3 

 

Main a 

 AV1087 

 43 

 D4 

 AV76 

Main b 

 AV76 

 V95 

 2 

 R9873 

Main c 

 R654 

 3 

 D43 

 RV982 

Main d 

 RDV9 

 8 

 AV52 

 RD43 


